Multiplying a Monomial by a Trinomial (D)
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Simplify each expression.

- 79(—g* 4+ 5g + 6)

—g°(59" — 9¢° + 3¢°)

52(22° + 8x* + 32°)

6p(—4p* + Tp — 1)

983 (d® — 2d° + 7d)

5y° (24" + 9y* + 6y)

727 (92% + 82% + 1)

5w(6w* — 3w® + 5w?)

—2K*(—2k" + 8k* + 8K?)

4R (=3h* + 6R% + 2h)
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Multiplying a Monomial by a Trinomial (D) Answers
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Simplify each expression.

- 79(—g° + 59 + 6)

= —7¢° + 35¢% + 42¢g

—g° (59" — 9¢° + 3¢°)
= —5¢° +9¢° — 3¢"

5x(22° + 8z + 32°)
= 1025 + 402° + 152*

6p(—4p% +7p—1)
— —24p® + 42p* — 6p

943 (d® — 2d% + 7d)
= 9d° — 18d° + 63d*

5y°(2y° + 9y° + 6y)
— 10y° + 45y + 30¢°

72°(92° + 82% + 1)
= 632% + 562° + T2

- Sw (6w — 3w? + 5w2)‘
= 30w’ — 15w* + 25uw*

2k (—2K° + 8Kk* + 8K?)
— 4k — 16k" — 16K°

0. 4h*(—3h* + 6R* + 2h)
— —12h5 4 24R° + 8n*
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